Mathematics 126,  Fourth&.1, Arclength
Give all approximations to 3 decimal accuracy.
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1. Use fnlnt to estimate the length of the arc determined by y = % from (0,0) to
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2. Use fnlnt to estimate the length of the curve y = 2x + cos(x), (0 <x < 2.

5.9

m—-&;:;zm LA — /Q.A;\.;w ( ‘K)

(A

AL = y i (i G 82 22 /) 254
Q \

STEYY

3. Set up an integral expression for the perimeter of the region bounded by
f(x) = 3x? — 24x — 27 and g(x) = —5x% + 40x + 45.
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42 Understand the methods so you can solve similar problems, ' & CATIAND
Understand the concepts so you can solve unfamiliar problems.
Study the (a) class notes, (b) text examples, (c) do the text exercises, and (d) do the 4™ hour problems.




